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1. BEETBA
SR-AZERA 95,578,000 0 11,604,000F A 11,604,000 95,678,000
=& 990,000 990,000
FEARK 86,280,000 11,604,000 A 11,604,000 86,280,000
ROSARR 2,400,000 2,400,000
AAFcHILER 3,778,000 3,778,000
BTEE#RS 2,130.000 2,130,000
HERIRA 42,778,000 218,364,800 127,350,000 4] 388,492,800
BSERTEERA 10,400,000 10,400,000
HERBEESREERA 1,500,000 1,500,000
LR —UEEEEIRA 648,000 648,000
BEE-EMEEXEA 23,530,000 23,530,000
BEEEEHEEESIA 3,600,000 3,600,000
HE v L ERIEA 4,600,000
LHEHMPHESIA 218,364,8C0 218,364 800
HAEERIA 125,850,000 125,850,00C
hERASDBAZTRA 2,000,000 0 0 4 2,000,000 0
— MM LOBRAE RLEFEE) 0 0 ¢ 0 0
PHMESHMCOBAE(BIEER 2,000,000 A 2,000,000 0
Tt 0 0 0 0 0
AT A 675,000 0 15,000 590,000
EHCERITASH(A) 141,031,000 218,364,800 138,969,000 A 13,604,000 484,760,800
2. REFWHEH 0
EER 70,353,000 216,364,800 130,600,000 0 417,317,800
PoERER 23,484,800 23,484,800
FERPESTER 0 216,364,800 216,364,800
HhA=RERRR [ 129,000,000 129,000,000
FHIAF ANLTERNZER 0 1,600,000 1,600,000
=LA —=UERR 1,107,309 0 1,107,300
SREBRVAFLARER 1,399,700 1,399,700
EZWRASEER 11,154,500 11,154,500
BEE-BMER¥ER 14,782,900 14,782,800
JoPCIRFETHER 4,506,700 4,506,700
BARIS—-ERR 2,872,600 2,572,800
CVIT-DEFERFIZEEZR 0 0
CVIT-QALYRF R B2 % 500,000 500,000
HEHMHERESR 6,652,000 6,652,000
HEHRvL A BERA 4,192,500 4,162,500
=ER 59,074,000 0 8,542 460 0 67,616,460
SR 0 2,100,000 2,100,000
BRiER 2,223,100 780,000 3,003,100
ENR & 1,141,800 610,000 1,751,800
EBEER 4,437,500 2,880,000 7.327,500
RER 787,200 0 787,200
REREER 45,984,400 2,162,460 48,146,860
HRER 3,500,000 3,500,000
FEAR 1,000,000 1,000,000
e Er A~ D& H 11,604,000 2,000,000 0] A 13,604,000 0
FHEHAORES(XHRLSR) 11,804,000 A 11,604,000 0
—BEH~OBHE (EHER) - 2,000,000 A 2,000,000 0
T kR - 0
EEEBHEHEH B 141,031,000 218,364,800 138,142,460] A 13,604,000 484,934,260
BEIMNZEHC)={A-B) 0 0 A 173,460 0 A 173,460
I #AETEHNEOR 0
BREHRADE 0
J-PCIEEERARILA 0 0
EIRE3E e IR AR A 0 0
FHIFAE AR A 0 0
BRTBHRASED) 0 0 0 0 0
BRI O ¢
EREBZHSE(E) Q ] ] 0 0
BRE NI EHEE)=D)-E) 0 5] 0 0 0
2 ER 41 3 2= $R(G)=(C)+ (F) 0 & A 173,460 0 A 173,460
BRI RR AR S (H) 110,830,966 4] 126,750,743 0 237,681,709
ZA R AR I ZH)=(G)+{H) 110,830,966 0 126,577,283 0 237,408,249




